

STABILITY OF THE LIPSCHITZ EXTENSION PROPERTY UNDER METRIC TRANSFORMS

YU. BRUDNYI AND P. SHVARTSMAN

Abstract

We show that the linear and nonlinear Lipschitz extension properties of a metric space are not changed when the original metric is replaced by a new metric obtained by composition with an arbitrary concave function.

1. In what follows (\mathcal{M}, d) stands for a metric space and X denotes a Banach space with the norm $\|\cdot\|$. One introduces the Lipschitz space $\text{Lip}(\mathcal{M}, X)$ as a linear space of mappings $f : \mathcal{M} \rightarrow X$ defined by finiteness of the seminorm

$$\|f\|_{\text{Lip}(\mathcal{M}, X)} := \sup_{x \neq y} \frac{\|f(x) - f(y)\|}{d(x, y)}.$$

DEFINITION 1. (a) A metric space \mathcal{M} satisfies the *Lipschitz extension property with respect to X* , if there is a constant $\lambda > 0$ such that for every $\mathcal{M}' \subset \mathcal{M}$ there exists an extension operator $E_{\mathcal{M}'} : \text{Lip}(\mathcal{M}', X) \rightarrow \text{Lip}(\mathcal{M}, X)$ with the norm $\leq \lambda$.

(b) \mathcal{M} satisfies the *linear Lipschitz extension property with respect to X* , if the operator $E_{\mathcal{M}'}$ can be chosen to be linear.

The optimal choice of λ is denoted by $e(\mathcal{M}, X)$ in case (a) and by $e_l(\mathcal{M}, X)$ in case (b).

Now let $\omega : \mathbb{R}_+ \rightarrow \mathbb{R}_+$ be a concave non-decreasing function equaling 0 at 0. (In the sequel ω will stand for such a function.) The operation of superposition $d_\omega := \omega \circ d$ defines a new metric space (\mathcal{M}, d_ω) . This space is called the *metric transform* of \mathcal{M} by ω and denoted by the symbol $\omega(\mathcal{M})$.

Theorem 2. (a) $e(\omega(\mathcal{M}), X) \leq C e(\mathcal{M}, X)^2$;

(b) *The same inequality holds for e_l .*

Hereafter C stands for an absolute constant.

The first named author was supported by the Technion V.P.R. Fund.

REMARK 3. A partial case of Theorem 2 (a), for $\omega(t) = t^\alpha$, $0 < \alpha < 1$, and X being a dual Banach space was independently proved by A. Naor [N] in another way.

Theorem 2 plays the role of an “amplifier” which allows us to extend and generalize Lipschitz extension theorems previously known only for special metrics. Thus part (a) of Theorem 2 can be applied to generalize many extension theorems which have been proved since the classical McShane [M] and Kirzbraun [K] theorems appeared in 1934, see, e.g. [WW] and the recent paper [LS] and references therein. In contrast to this intensive development there are only few results related to the linear extension problem. One of them, which is easily obtained by the Whitney extension method, states that a doubling metric space has the linear Lipschitz extension property, see, e.g. [G, p. 432]. As an example of a non-doubling metric space possessing this property one singles out the classical Beltrami-Lobachevski space \mathcal{L}_n . It was proved in [BrS, Section 4] that $e_l(\mathcal{L}_n, \mathbb{R}) \leq C(n)$.

2. The crucial step of the proof of Theorem 2 is the following basic result of Interpolation Space Theory (see [BL] or [BrK] for main notions of this theory). Let $\vec{X} := (X_0, X_1)$ be a Banach couple and let $K(\cdot, x; \vec{X})$ be the K -functional of an element $x \in \Sigma(\vec{X}) := X_0 + X_1$.

Theorem 4 (on K -divisibility of \vec{X} , see [BrK, Theorem 3.2.7]). *Assume that ω is a sum of concave functions $\omega_i : \mathbb{R}_+ \rightarrow \mathbb{R}_+$, $i \in \mathbb{N}$,*

$$\omega = \sum_{i=1}^{\infty} \omega_i \quad (\text{pointwise convergence}) \quad (1)$$

and for every $t > 0$ the following inequality

$$K(t, x; \vec{X}) \leq \omega(t) \quad (2)$$

is true. Then there exists a decomposition $x = \sum_{i=1}^{\infty} x_i$ (convergence in $\Sigma(\vec{X})$) such that $K(t, x_i; \vec{X}) \leq \gamma \omega_i(t)$ for all $t > 0$ and $i \in \mathbb{N}$. Here $\gamma > 0$ is an absolute constant.

For the formulation of a “linear” version of this result recall the following:

DEFINITION 5. A Banach couple \vec{X} is said to be K -linearizable if there exist a positive constant λ and two families of linear bounded operators $\{U_t : \Sigma(\vec{X}) \rightarrow X_0 : t > 0\}$ and $\{V_t : \Sigma(\vec{X}) \rightarrow X_1 : t > 0\}$ such that $U_t + V_t = \text{Id}_{\Sigma(\vec{X})}$ for all $t > 0$ and for every $x \in \Sigma(\vec{X})$ and $t > 0$

$$\|U_t x\|_{X_0} + t \|V_t x\|_{X_1} \leq \lambda K(t, x; \vec{X}).$$

We set $\lambda(\vec{X}) := \inf \lambda$.

Theorem 6. *Suppose \vec{X} is K -linearizable and condition (1) holds. Then there exists a family of linear operators $\{T_i : \Sigma(\vec{X}) \rightarrow \Sigma(\vec{X}) : i \in \mathbb{N}\}$ such that*

$$\text{Id}_{\Sigma(\vec{X})} = \sum_{i=1}^{\infty} T_i \quad (\text{pointwise convergence})$$

and for every element $x \in \Sigma(\vec{X})$ satisfying (2) and every $t > 0, i \in \mathbb{N}$

$$K(t, T_i x; \vec{X}) \leq \gamma \lambda(\vec{X}) \omega_i(t).$$

The proof of this result literally follows the proof of Theorem 3.2.7 in [BrK]. The only change is required in the definition of elements $x_0(t), x_1(t)$ of that proof, see (3.2.30), p. 327 of [BrK]. Instead of that we now use operators U_t, V_t of Definition 5 to set $x_0(t) := U_t x$ and $x_1(t) := V_t x$. \square

3. We apply these results to the Banach couple $\vec{L} := (l_\infty(\mathcal{M}, X), \text{Lip}(\mathcal{M}, X))$. Here $l_\infty(\mathcal{M}, X)$ is the space of bounded mappings $f : \mathcal{M} \rightarrow X$ equipped with the norm $\|f\|_{l_\infty(\mathcal{M}, X)} := \sup\{\|f(m)\| : m \in \mathcal{M}\}$. The K -functional of this couple is related to the *modulus of continuity* of a mapping $f : \mathcal{M} \rightarrow X$, i.e.

$$\Omega(t, f) := \sup \{ \|f(m) - f(m')\| : d(m, m') \leq t \}.$$

The least concave majorant of Ω will be denoted by $\widehat{\Omega}$.

PROPOSITION 7. *For every $f \in \Sigma(\vec{L})$ and $t > 0$*

$$\frac{1}{2} \widehat{\Omega}(t, f) \leq K(t, f; \vec{L}) \leq 3e(\mathcal{M}, X) \widehat{\Omega}(t, f). \quad (3)$$

Proof. Given $\varepsilon > 0$ and $t > 0$ choose a decomposition $f = f_0 + f_1$ such that

$$\|f_0\|_{l_\infty} + t\|f_1\|_{\text{Lip}} \leq K(t, f; \vec{L}) + \varepsilon.$$

Here and below we omit \mathcal{M} and X from notations writing, e.g. $\|f\|_{l_\infty}$ instead of $\|f\|_{l_\infty(\mathcal{M}, X)}$. Then we have

$$\Omega(t, f) \leq \Omega(t, f_0) + \Omega(t, f_1) \leq 2\|f_0\|_{l_\infty} + t\|f_1\|_{\text{Lip}} \leq 2K(t, f; \vec{L}) + 2\varepsilon.$$

Since the K -functional is concave and $\varepsilon > 0$ is arbitrary, this implies the left inequality in (3).

Fix now $t > 0$ and choose a maximal t -net N_t in \mathcal{M} , i.e. (i) $d(x, y) \geq t$ for different x, y in N_t , and (ii) for every $x \in \mathcal{M}$ there is $\hat{x} \in N_t$ such that $d(x, \hat{x}) < t$.

Estimate the norm of $f|_{N_t}$ in $\text{Lip}(N_t, X)$. For every $x, y \in N_t, x \neq y$ we have

$$\|f|_{N_t}(x) - f|_{N_t}(y)\| = \|f(x) - f(y)\| \leq \widehat{\Omega}(d(x, y), f).$$

Since $\widehat{\Omega}$ is concave, the function $\widehat{\Omega}(t)/t$ is non-increasing so that by (i)

$$|f|_{N_t}|_{\text{Lip}(N_t, X)} \leq \sup \left\{ \frac{\widehat{\Omega}(d(x, y), f)}{d(x, y)} : x, y \in N_t, x \neq y \right\} \leq \frac{\widehat{\Omega}(t, f)}{t}.$$

Now let $e(\mathcal{M}, X) < \infty$. Given $\varepsilon > 0$ choose an extension $f_1 : \mathcal{M} \rightarrow X$ of $f|_{N_t}$ such that

$$|f_1|_{\text{Lip}} \leq (e(\mathcal{M}, X) + \varepsilon) \frac{\widehat{\Omega}(t, f)}{t}. \quad (4)$$

Set $f_0 := f - f_1$ and estimate $\|f_0\|_{l_\infty}$. To this end given $x \in \mathcal{M}$ choose $\hat{x} \in N_t$ satisfying $d(x, \hat{x}) < t$. Since

$$\|f_0(x)\| \leq \|f(x) - f(\hat{x})\| + \|f(\hat{x}) - f_1(x)\|$$

and $f(\hat{x}) = f_1(\hat{x})$, one gets for the left-hand side the bound $\Omega(d(x, \hat{x}), f) + |f_1|_{\text{Lip}} d(x, \hat{x})$. Together with (4) this implies

$$\|f_0\|_{l_\infty} \leq \widehat{\Omega}(t, f) + (e(\mathcal{M}, X) + \varepsilon) \widehat{\Omega}(t, f) \leq (2e(\mathcal{M}, X) + \varepsilon) \widehat{\Omega}(f, t). \quad (5)$$

From this inequality and (4) it follows that

$$\begin{aligned} K(t, f; \vec{L}) &\leq \|f_0\|_{l_\infty} + t|f_1|_{\text{Lip}} \\ &\leq (2e(\mathcal{M}, X) + \varepsilon) \widehat{\Omega}(t, f) + (e(\mathcal{M}, X) + \varepsilon) \widehat{\Omega}(t, f). \quad \square \end{aligned}$$

In the ‘‘linear’’ case the following is true.

PROPOSITION 8. *If $e_l(\mathcal{M}, X) < \infty$, then the couple \vec{L} is K -linearizable and $\lambda(\vec{L}) \leq 6e_l(\mathcal{M}, X)$.*

Proof. Let N_t be as in Proposition 7. Consider a *linear* extension operator E_t from $\text{Lip}(N_t, X)$ into $\text{Lip}(\mathcal{M}, X)$ with the norm $\|E_t\| \leq e_l(\mathcal{M}, X) + \varepsilon$. Now define the required operator V_t of Definition 5 by $V_t f := E_t(f|_{N_t})$. Similarly to (4) and (5) we then obtain the inequalities

$$|V_t f|_{\text{Lip}} \leq (e_l(\mathcal{M}, X) + \varepsilon) \frac{\widehat{\Omega}(t, f)}{t}, \quad \|f - V_t f\|_{l_\infty} \leq (2e_l(\mathcal{M}, X) + \varepsilon) \widehat{\Omega}(f; t).$$

Using these and the left inequality in (3) we get

$$\begin{aligned} \|f - V_t f\|_{l_\infty} + t|V_t f|_{\text{Lip}} &\leq (3e_l(\mathcal{M}, X) + 2\varepsilon) \widehat{\Omega}(f, t) \\ &\leq 2(3e_l(\mathcal{M}, X) + 2\varepsilon) K(t, f; \vec{L}). \end{aligned}$$

Hence $\lambda(\vec{L}) \leq 6e_l(\mathcal{M}, X)$. □

As a consequence of Theorem 4 and Proposition 7 one has

COROLLARY 9. *Let $e(\mathcal{M}, X) < \infty$ and ω, ω_i be as in Theorem 4. If $f \in \text{Lip}(\omega(\mathcal{M}), X)$, then there exists a sequence of mappings $f_i \in \text{Lip}(\omega(\mathcal{M}), X)$, $i \in \mathbb{N}$, such that $f = \sum_{i=1}^{\infty} f_i$ (pointwise convergence) and, in addition,*

$$|f_i|_{\text{Lip}(\omega_i(\mathcal{M}), X)} \leq C e(\mathcal{M}, X) |f|_{\text{Lip}(\omega(\mathcal{M}), X)}. \quad (6)$$

Proof. Since by (3)

$$K(t, f; \vec{L}) \leq 3e(\mathcal{M}, X) \widehat{\Omega}(t, f) \leq 3e(\mathcal{M}, X) |f|_{\text{Lip}(\omega(\mathcal{M}), X)} \omega(t),$$

one can apply Theorem 4 to $\vec{X} = \vec{L}$ and ω replaced by $3e(\mathcal{M}, X) |f|_{\text{Lip}(\omega(\mathcal{M}), X)} \omega$. By this theorem there exists a decomposition $f = \sum_{i=1}^{\infty} f_i$ with convergence in $\Sigma(\vec{L}) = l_{\infty}(\mathcal{M}, X) / \{\text{const}\}$ such that for every $t > 0$ and $i \in \mathbb{N}$

$$K(t, f_i; \vec{L}) \leq Ce(\mathcal{M}, X) |f_i|_{\text{Lip}(\omega(\mathcal{M}), X)} \omega_i(t).$$

From here it easily follows that $\sum_{i=1}^{\infty} f_i$ converges to $f + c$ where c is a suitable constant. Thus we can redefine f to preserve the equality $f = \sum_{i=1}^{\infty} f_i$ with the pointwise convergence. According to the left inequality in (3) this implies (6). \square

Now applying Theorem 6 and Proposition 8 we obtain in the very same fashion the following

COROLLARY 10. *Let $e_l(\mathcal{M}, X) < \infty$, and ω, ω_i be as in Theorem 4. Then there exists a family $\{T_i : \text{Lip}(\omega(\mathcal{M}), X) \rightarrow \text{Lip}(\omega_i(\mathcal{M}), X) : i \in \mathbb{N}\}$ such that*

$$\text{Id}_{\text{Lip}(\omega(\mathcal{M}), X)} = \sum_{i=1}^{\infty} T_i \quad (\text{pointwise convergence})$$

and, in addition, $\sup_i \|T_i\| \leq Ce_l(\mathcal{M}, X)$.

4 Proof of Theorem 2. According to Lemma 3.2.8 in [BrK]

$$\omega(t) \approx \sum_{i=1}^{\infty} \min(\lambda_i, \mu_i t), \quad t \in \mathbb{R}_+ \tag{7}$$

with suitable $\lambda_i, \mu_i > 0$ and absolute constants of equivalence. Thus it is natural to prove first the required result for “atoms” $\min(\lambda_i, \mu_i t)$. In turn, the latter follows from the corresponding result for $\alpha(t) := \min(1, t)$, $t \in \mathbb{R}_+$.

LEMMA 11. (a) $e(\alpha(\mathcal{M}), X) \leq 3e(\mathcal{M}, X)$; (b) *The same is true for e_l .*

Proof. Let $\mathcal{M}' \subset \mathcal{M}$ and let $f \in \text{Lip}(\alpha(\mathcal{M}'), X)$ be such that $|f|_{\text{Lip}(\alpha(\mathcal{M}'), X)} \leq 1$. Denote $A = \{x \in \mathcal{M} : d(x, \mathcal{M}') \geq 1\}$. Then fix $x_0 \in \mathcal{M}'$ and define a mapping $g : \mathcal{M}' \cup A \rightarrow X$ by setting $g(x) := f(x)$, $x \in \mathcal{M}'$ and $g(x) := f(x_0)$, $x \in A$.

Clearly, $|g|_{\text{Lip}(\mathcal{M}' \cup A, X)} \leq 1$, so that given $\varepsilon > 0$ we can extend g to a Lipschitz mapping $\tilde{g} : \mathcal{M} \rightarrow X$ with constant $K := e(\mathcal{M}, X) + \varepsilon$. In particular, \tilde{g} extends f . If $x, y \in \mathcal{M} \setminus A$, then we can find $x', y' \in \mathcal{M}'$ with $d(x, x') \leq 1$ and $d(y, y') \leq 1$. Hence

$$\|\tilde{g}(x) - \tilde{g}(y)\| \leq \|\tilde{g}(x) - \tilde{g}(x')\| + \|f(x') - f(y')\| + \|\tilde{g}(y') - \tilde{g}(y)\|$$

$$\leq Kd(x, x') + \alpha(d(x', y')) + Kd(y, y') \leq 2K + 1.$$

Similarly, if $x \in A$ and $y \in \mathcal{M} \setminus A$ find $y' \in \mathcal{M}'$ with $d(y, y') \leq 1$. Hence

$$\|\tilde{g}(x) - \tilde{g}(y)\| \leq \|f(x_0) - f(y')\| + \|\tilde{g}(y') - \tilde{g}(y)\| \leq 1 + K.$$

Thus for all $x, y \in \mathcal{M}$

$$\begin{aligned} \|\tilde{g}(x) - \tilde{g}(y)\| &\leq \min\{Kd(x, y), 2K + 1\} \leq (2K + 1)\alpha(d(x, y)) \\ &\leq (3e(\mathcal{M}, X) + 2\varepsilon)\alpha(d(x, y)) \end{aligned}$$

and the statement (a) follows. The corresponding modification of the proof for the “linear” case is obvious. \square

Let $\mathcal{M}' \subset \mathcal{M}$ and $f \in \text{Lip}(\omega(\mathcal{M}'), X)$. We have to find an extension $\tilde{f} \in \text{Lip}(\omega(\mathcal{M}), X)$ of f satisfying

$$|\tilde{f}|_{\text{Lip}(\omega(\mathcal{M}), X)} \leq Ce(\mathcal{M}, X)^2 |f|_{\text{Lip}(\omega(\mathcal{M}'), X)}. \quad (8)$$

In the second part of the theorem we also have to define \tilde{f} linearly depending on f . Using decomposition (7) and Corollary 9 with $\omega_i(t) := \min(\lambda_i, \mu_i t)$, $i \in \mathbb{N}$, we represent f as a sum $f = \sum_{i=1}^{\infty} f_i$ (pointwise convergence) with $f_i : \mathcal{M}' \rightarrow X$ satisfying

$$|f_i|_{\text{Lip}(\omega_i(\mathcal{M}'), X)} \leq Ce(\mathcal{M}, X) |f|_{\text{Lip}(\omega(\mathcal{M}'), X)}, \quad i \in \mathbb{N}.$$

Using this and Lemma 11, (a) we now obtain an extension $\tilde{f}_i : \mathcal{M} \rightarrow X$ satisfying

$$|\tilde{f}_i|_{\text{Lip}(\omega_i(\mathcal{M}), X)} \leq 3Ce(\mathcal{M}, X)^2 |f|_{\text{Lip}(\omega(\mathcal{M}'), X)}, \quad i \in \mathbb{N}. \quad (9)$$

Now set $\tilde{f} := \sum_{i=1}^{\infty} \tilde{f}_i$ and show that \tilde{f} is well defined and satisfies (8). Given $x \in \mathcal{M}$ we choose a point $x_0 \in \mathcal{M}'$ and write

$$\left\| \sum_{i=m}^n \tilde{f}_i(x) \right\| \leq \sum_{i=m}^n \|\tilde{f}_i(x) - \tilde{f}_i(x_0)\| + \left\| \sum_{i=m}^n \tilde{f}_i(x_0) \right\|.$$

Since $\tilde{f}_i(x_0) = f_i(x_0)$, $i \in \mathbb{N}$, this and (9) imply

$$\left\| \sum_{i=m}^n \tilde{f}_i(x) \right\| \leq 3Ce(\mathcal{M}, X)^2 |f|_{\text{Lip}(\omega(\mathcal{M}'), X)} \sum_{i=m}^n \omega_i(d(x, x_0)) + \left\| \sum_{i=m}^n f_i(x_0) \right\|.$$

But $\sum_{i=1}^{\infty} f_i(x_0)$ and $\sum_{i=1}^{\infty} \omega_i(d(x, x_0))$ are convergent, therefore the right-hand side of this inequality tends to 0 as $m, n \rightarrow \infty$. Thus \tilde{f} is well defined. It remains to note that by (9) and (7)

$$\begin{aligned} \|\tilde{f}(x) - \tilde{f}(y)\| &\leq \sum_{i=1}^{\infty} \|\tilde{f}_i(x) - \tilde{f}_i(y)\| \\ &\leq 3Ce(\mathcal{M}, X)^2 |f|_{\text{Lip}(\omega(\mathcal{M}'), X)} \left(\sum_{i=1}^{\infty} \omega_i(d(x, y)) \right) \\ &\leq C_1 e(\mathcal{M}, X)^2 |f|_{\text{Lip}(\omega(\mathcal{M}'), X)} \omega(d(x, y)), \quad x, y \in \mathcal{M}, \end{aligned}$$

with suitable C_1 . Thus part (a) of Theorem 2 is proved.

As for part (b) one should repeat word for word the proof of part (a) replacing Corollary 9 by Corollary 10 and statement (a) of Lemma 11 by statement (b). If in this case E_i denotes the corresponding linear extension operator from $\text{Lip}(\omega_i(\mathcal{M}'), X)$ into $\text{Lip}(\omega(\mathcal{M}), X)$ for which $\|E_i\| \leq 3e_l(\mathcal{M}, X)$, then the required extension operator is defined by $E = \sum_{i=1}^{\infty} E_i T_i$. Here T_i are linear operators of Corollary 10.

The proof of Theorem 2 is complete. \square

Acknowledgement. We are very grateful to A. Naor for a simplification of the proof of Lemma 11 and helpful discussions.

References

- [BL] J. BERGH, J. LÖFSTRÖM, *Interpolation Spaces. An Introduction*, Springer, 1976.
- [BrK] YU. BRUDNYI, N. KRUGLJAK, *Interpolation Functors and Interpolation Spaces, I*, North-Holland Math. Library 47, North Holland, Amsterdam, 1991.
- [BrS] YU. BRUDNYI, P. SHVARTSMAN, The Whitney problem of existence of a linear extension operator, *J. Geom. Anal.* 7:4 (1997), 515–574.
- [G] M. GROMOV, *Metric Structures for Riemannian and Non-Riemannian Spaces*, Progress in Mathematics, 152, Birkhäuser Boston, Inc., Boston, MA, 1999.
- [K] M.D. KIRSZBRAUN, Über die zusammenziehende und Lipschitzsche Transformationen, *Fund. Math.* 22 (1934), 77–108.
- [LS] U. LANG, V. SCHROEDER, Kirszbraun's theorem and metric spaces of bounded curvature, *GAFSA, Geom. funct. anal.* 7 (1997), 535–560.
- [M] E.J. MCSHANE, Extension of range of functions, *Bull. Amer. Math. Soc.* 40 (1934), 837–842.
- [N] A. NAOR, A phase transition phenomenon between the isometric and isomorphic extension problems for Hölder functions between L_p spaces, *Mathematika*, to appear.
- [WW] J.H. WELLS, L.R. WILLIAMS, *Embeddings and Extensions in Analysis*, Springer-Verlag, Berlin Heidelberg New York, 1975.

YURI BRUDNYI, Department of Mathematics, Technion – Israel Institute of Technology, 32000 Haifa, Israel ybrudnyi@tx.technion.ac.il

PAVEL SHVARTSMAN, Department of Mathematics, Technion - Israel Institute of Technology, 32000 Haifa, Israel pshv@tx.technion.ac.il

Submitted: January 2001

Revised version: February 2001